o 2ORIDNE ANYT

i HR HABKAS 8H(1) U10
(BiRD5> > EA]

AT = =g : :
1 (72| Fiik e RISEF=ZZ7—-)l | %tk | 8 2-4 4-2 1-1| 21
2| IR SZE HEBR-L7=225-I | B[ 9| 4 -2 4-2 2-0| 14z
3| [N S zi|10] 2-4 2-4 0-2| 3z
4

B0 = g 1= = X
1| /NEEF HE  |[JU->FZXT5Y | BiE| 9 4-0 4-1 2-0| 14z
2| |FOEF &R HFRMEEED gt 8| 0-4 1-4 |0-2]| 4f
3| 3 FNE 1N>7Z220-MFRR | B 9| 1 - 4 4-1 (1-1]| 2fx
4|l (7R FEG |AP-X S| 9 4-1 | 1-4 1-1| 341
UL—IL-3FEBIE] (SF>20MRA> Mics))

< F&-J1&, NBRIBI M= X MEATRVWET, 1,20 M —F X 3,4FI8—F X2k CE5SRBRIZE,
A NY—=T DB E(E1vs2 - 3vsd/1vs3- 2vs4/ D2 EEITVET,

JBAERTEFEE. OB QEZEITR @OFKkmE @50+ DIEETRELET,

FIE 45— LB -V RIS HARNOFE

AR 64— LR -TRI\CF—SHAROFE



https://www.spojin.com/ranking/pdf/20200127ranking.pdf.pdf
https://www.spojin.com/ranking/pdf/20200127ranking.pdf.pdf
https://www.spojin.com/ranking/pdf/20200127ranking.pdf.pdf
http://www.spojin.com/ranking/pdf/20160201ranking.pdf

oy AIRIDEF BT

i RR RABEKA= 8H(1) U10

FrLIJI YT

1,2fi I b—=FXA> 3,40 b= X b
NIz NE= IN
REEFR—LTZARI-)1
32 F1E INLY DS
. — 63 \_ 64
HiE FE BEY =
A>T ZARI—IVERFR *“gl EE ,ﬁ!\%g'}
INEF TS 1k 2Ry
. 63 62
ik R bye
RISEZXXYI-)l
INEF TS
60 o
INESY = 1 28

HY—>FZ 2S5 R7—-X



A}J_‘il LY

I‘v/:l‘

il
i)™
4 E
o
i =
h"‘"v" A
Sl
=

o A G e
—
===
=

AT

I

Qg

100

DE

AEBHTESITETVET

A I




